Dear Tax Reform Panel, 

I have heard that one proposal for reforming the tax code is to change from an income tax to a consumption tax.  While a consumption tax would be attractive if it had been in place from the start, I think that the transition from an income tax to a consumption tax would be very difficult.

I have been working my whole life under an income tax.  I have managed to save a large enough nest egg to be able to retire.  I have already paid taxes on the monies that I have earned and then saved.  It would be unfair at this point to now start taxing the nest egg as it is withdrawn and spent.  This would amount to double taxation on these funds.

I feel that some credit for monies which have already been taxed and saved would have to be granted.  Of course any investment gains which have yet to be taxed could be subject to the consumption tax.  As you can see this calculation could get messy.  Also any caps on credits granted would be a negative.  

As I understand it, one of the goals of a consumption tax is to encourage savings.  So let’s not penalize and disadvantages those of us that managed to save under the old income tax system.

If an income tax is kept then the AMT portion needs serious work.  Two very unfair portions of the AMT need to be addressed as a minimum.  The first is that State Income Tax is included as a tax preference item.  I can understand mortgage interest, charitable deduction and other deductions being included as preference items, but the State Income Tax should not be.  The reason is that paying State Income Tax is not a choice for an individual.  In fact the individual never sees this money, yet is still taxed on it.  Again this amounts to a double taxation on this money, the State takes the State tax money and the Feds taxes the money that the state took.

The second serious issue is the taxing of stock options when they are exercised.  In the dot com bust many people owed more money then what their stock was worth.  Let me give an example.  Let’s say 1000 options are granted at $1 and the stock is trading at $101 when it is exercised, but it is not sold in the same year.  The AMT gain is $100,000 and the tax is 28% or $28,000.  If the stock goes down the following year to $10 and is sold then the gain is only $10,000 but $18,000 in taxes was paid.  Of course there is a $90,000 AMT loss but you can only take this if you are in an AMT situation the next year.  Of course I could have some of these details wrong because no one can really understand the AMT, it is just way too complicated.  The bottom line is that income from exercising stock options should not be taxed until they are sold.  No one has made any money until they sell the stock, so that should be event that triggers the taxes.
Thank you for undertaking this task.  I know that it will be difficult and you will never be able to make everyone happy.  Hopefully you understand the unfairness of the points that I have pointed out and will take this into consideration when you come up with you final plan.

Personally I think a flat tax (or two tier flat tax) on money actually made would be best.  Eliminate all deductions and figure out the right number to make the tax.  Get the government out of manipulating people by creating incentives in the tax code.

Best Regards,


David A. Kummer

8947 S Green Meadows Lane

Highlands Ranch, CO 80126

